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1 The product of two fractions is 14/15 and their quotient

is 35/24. The greater fraction.
A AT ST UAES 14158 TUTSTHT HIThS JAUZ |
CEINET A

) 7/4
(2) 7/6
(3) 4/7
(4) 4/5
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2 Sum of three consecutive even integers is 54. Find the
least integer among them.

g .
R e

(1) 18
(2) 15

W) 16
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3 What is the value of—+m+m+ .9

—+m+m+ .9 WWWH’FITRIT%’?

1) 222222222
) 111111111
(3) 555555555
(4) 525252525
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A tank is fitted with two taps. The first tap can fill the tank completely in
45 minutes and the second tap can empty the full tank in one hour. If
both the taps are opened alternately for one minute, then in how many |
hours the empty tank will be filled completely? .
Wﬁa’rmaﬁ%mwaﬁ%ﬁm@mﬁm%aﬁvww

ol 1ue A @l avar 31 afe Waﬁaﬁwwﬁﬁz -
& fere et siman 8 df @ret St o1 quiaar 4R J frasir g @

) 3 h. 55 min.
) 3 h. 40 min.
(3) 4 h. 48 min.
(4) 5 h. 53 min.
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A man donates 30% of his wealth to charity. 30% and 25% of the
5 remaining wealth of his wife and son respectively. The rest he divides
equally between his three daughter. One of his daughter gets Rs 42 lakh

as her share. What was the man's wealth (in Rs. Lakr%)]

U i 391 Wi~ BT 0 U YT U YHer
TRT BT PHTT: 303N 25U AR HRT 3G Tl SR A Bl g—llmﬁmﬁr

98 391 diF9 dfedl & S aua EU A [yfsa sarg| wﬁ%ﬁn‘rﬁﬁw
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) 280
) 400
(3) 500
(4) 350
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If x —§= 1, then the value ofﬂﬁ?ﬂﬁﬁ

|
xt — =
X

3x2+5x—3

Ml) 1/4

) 1/2
(3) 3/4
(4) 0
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The sum of two numbers is 36 and their HCF and LCM are 3
and 105 respectively. The sum of the reciprocals of two
numbers:

ol TSIl ST 36 TYUT SART H.H. TYUT . I, HH: 3dUT 1058, <1
IP GahH] B AT RTERT?

1) 2/35

) 3/25
(3) 4/35
(4) 2/25
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The marked price of an article is 50% above cost price. When |
marked price is increased by 20% and selling price is
increased by 20%. The profit become doubles. If original ,
marked price is Rs. 300, then original selling price is - )
U a &1 3ifpd q&mwmﬁmmwwi’.l g |
3ifFd qea 1 20 wﬁmw%aﬁvﬁmu%wﬁzo N

mw?’m%ﬁmuﬂgqé?"m%

Hed ¥ 3008, A aRafa® fasg Hed ghm|
I%mym) Rs. 200
(2) Rs. 250
(3) Rs. 240

(4) Rs. 275
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| "ff___f_jwh SSC CPO/CHSL/CGL TIER 1l 2023

sin2A
1+cos24

Q What is the simplified value of

BT IRAPT AT TS ?
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- 1 In a circle of radius 21 cm and arc subtends an angle of 729 at
the centre. The Ien%t.h of the arc is -

0 213 Arear 9 9 8 U@ 919, 5 W 72 ST S0 a1 8 | g )
TS A P

w)zm cm

(2) 26.4 cm
(3) 13.2 cm
(4) 198.8 cm
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1 The milk and water in a mixture are in the ratio 7:5. When 15
litres of water are added to _,

1 it, the ratio of milk and water in the new mixture becomes 7 : 8. |
The total quantity of water in the new mixture is "

o g YT BT U 7 : 581 afe 15eex Ul o remar sme o
glacnm: 8! SITaT 8 | <t <T¢ fargror # it &t oot AT Fra B

1) 35 litres
w2) 40 litres
(3) 60 litres
(4) 96 litres
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The compound interest on a certain sum of money at a certain
rate per annum for two
years is Rs. 2,050, and the simple interest on the same amount |
of money at the same |
rate for 3 years is Rs. 3000. Then the sum of money is :

fedt fAffd TR R TR ufcaddqadsrawafs |
TSl 2,050, § 3R Ia-11 §1 Y-RIR UR FH g W 394 ST HIYROT |
T 3,000% 8 | Y et

) Rs. 20,000
(2) Rs. 18,000
(3) Rs. 21,000
(4) Rs. 25,000
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) 3 If two medians BE and CF of a triangle ABC, intersect each

other at G and if BG=CG,
ABGC 60°, BC 8cm , then area of the triangle ABC is:

A ABC W 2 HIfRI®TE BE T CF U®- G e wWored?
3R 9fe BG=CG, ABGC=60°, chaﬁﬁg??h ABCﬁgﬂ AThd yId

G g

(4) 54 v3 cm?

hitps://t.me/MathbySuryaveersir |



1000 QUESTION SERIES

1 A rectangular paper sheet of dimensions 22 cm x12cm is
folded in the form of a cylinder along its length. What will be
4 the volume of this cylinder?

(Take nr = ?)

22 12cm B ATAATPR AT Bl IUP! dHEITS & URT: HISHT
qg%a;%wﬁmmammﬁ?

) 460 cm?3
(2) 462 cm?
(3) 624 cm?
(4) 400 cm3
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1 Speed of a boat is 5 km per hour in still water and the speed of |
the stream is 3 km per hour. If the boat takes 3 hourstogoto |

S a place apd come back, the di.stance of the place is : .
XITd oA & 919 Bt 91 5T Hider g 941 YRT & ard 3fe Y. ger

3’_% gfe -ra 3ter # fred) gt 9o sires arus o wirdl 8, Y gt o

(1) 3.75 km

2) 4 km
w) 4.8 km

(4) 4.25 km
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Home work |

the total surface area of a metallic hemisphere is 1848 cm?2.
cm. The hemisphere is melted to form a solid right circular
cone. If the radius of the base of the cone is the same as the
radius of the hemisphere its height is

SN BT AThd 188 AW 21 AT TNA P TS UF P
gﬂﬁmﬁ@gﬂ?ﬁﬁﬂ,aﬁﬁﬂﬁﬁ%%

8,7 AP Bk | (2) 26 cm

(3) 28 cm
(d4 30 cm
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